ITI Refrigeration and Air Conditioning Technician 2nd Year Module 7 Ice
candy plant and Ice plant

(1). What chemicals are mixed with water for brine solution of small plants like ice

cream storage plants? | WWW@@@%W%WW%
fore ot & o1 9§ 9T e §rd 82

(A) Propylene glycol | WW
(B) Calcium chloride | iR TIRSS
(C) Sodium chloride | TITSTH FARTSS
(D) Ethylene glycol | guﬁﬁqmﬁﬁa

Correct Answer : B

(2). Which type of heat is absorbed by the primary refrigerant from the brine

solution in ice candy plant? | Wﬁ I49 H THD I 91d I UTIHE JIhieiie
GRT ol UHR D1 TH I Sa=NTI fodT STl 62

(A) Sensible heat | URTad IS
(B) Specific heat | fafRry I
(C) Latent heat | T[td 3BHI

(D) Super heat | U 3BHI

Correct Answer : C



(3). What is the name of part marked as X in service line of ice plant? | T T4

B AT AT | X P =Y | fIfed UFT BT 9 R 8?

(A) Suction line | IR flg-
(B) Charging hose | SIISHEI]

(C) Vacuum pump | éaqquu
(D) Hand shut off valve | %_S'QI_C' 3% dlcd

Correct Answer : D

(4). Which one is mechanical component of Ice candy plant? | WHWW
AP d HHIHC DI T 87

(A) Overload protector | 3NAArS Uledex

(B) Thermostatic switch | yAferfes fag

(C) Compressor service valve | SR Ifdg aTed
(D) Motor switch | Hiex o=

Correct Answer : C




(5). Why copper tubes are avoided in ice plants using ammonia refrigerant? |
SIAIT XH TSI T SUTNT B b S & WIie H did o ATl I URgl ol [T
ST 82

(A) Chances of leak is more | qra Bt g &rfim%

(B) Less heat transfer rate | hH Tﬂffs%didew X

(C) React with ammonia | AT & 9y ufdfeean
(D) React with brine | THGH Ul & 91y Ufdfhar o

Correct Answer : C

(6). Which thickness of sheet is used for making brine tank in an ice candy plant? |
TP T Hal GO H THDH ¢ b 911 & fore e & for Hierg &1 IudiT foar
ST 82

(A) 10swg

(B) 12 swg
(C) 14 swg
(D) 16 swg

Correct Answer : C

(7). What is the temperature range of brine solution in ice candy plant? | 3Id

&S GUF T TS Ol &1 ITIHH HHT T g2
(A) -10°Cto-15°C
(B) -20°Cto-25°C
(C) -30°Cto-35°C
(D) -40°Cto -45°C

Correct Answer : B



(8). What insulation is used to insulate ice cream storage cabinet? | &ﬂgﬂﬁﬁ

TR BT Bl FGere D P (A [ TR BT STAN {21 Sl 82
(A) Thermocol | yADId

(B) Glass wool | ¥eITH def

(C) Expanded Poly Urethane | TRIUSS TOrcil XA

(D) Foam pad | TP U8

Correct Answer : C

(9). Which is used for maintaining the brine solution temperature evenly in a ice
candy plant? | 339 $a1 TIF T HM ¥ F THD I UId P dTIH BT 914

G o o forresT SUaNT foha ST 82
(A) Fan | Ol

(B) Blower | SAI3R

(C) Agitator | TSIICER

(D) Evaporator | TaTORER

Correct Answer : C




(10). Which one is thermostat in figure? | ICEE:] uﬂﬁzﬁqmév
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(A) 1
(B) 2
(C) 4
(D) 3

Correct Answer : D

(11). Which operation is carried out before replacing low pressure side
components in ice plant? | &mwﬁﬁa G d1d dIc 9ehl Bl S8 o 1§ Ugal
I T TR fodT STt g2

(A) Pump down refrigerant | U ST13 JpIoTee

(B) Vacuumization | éagmﬂ
(C) Over charge | 3R TS

(D) Purge | tl\_rf

Correct Answer : A



(12). Why the stainless steel metal is used to make evaporator in ice plant? | Th

G T AT B o [T eIy e 4T 1 SUAIT & [T ST g2

(A) Erosive | Qﬂﬁlﬁ
(B) Galvanic | INCIGIED

(C) Reactive | ﬁ'm
(D) Non corrosive | A9 HRIRTG

Correct Answer : D

(13). What is the part marked as X in ice plant? | ﬁWﬁX%Wﬁﬁﬁ%—d

(A) Hand valve | %_sra'lc'_d

(B) Cylinder valve | IR NEREI]

(C) Cylinder safety valve | ﬁl@l@?ﬂ?&ﬂﬁlc'_d
(D) Pressure relief valve | IR el area

Correct Answer : D



(14). What is the causes of Load tripping frequently? | TRIR IS |EA|EI"I [ HT
HRUTG?

(A) Fan or blower loose | aﬂmﬁh\?ﬂmm

(B) Compressor winding weak | Wﬁmmm
(C) Contamination of refrigerant | WWW

(D) Improper vacuum | &ﬂﬁlﬁmm

Correct Answer : B

(15). Which type of evaporator generally used in Ice candy plant/machine? |

3T H 1 TUF/ARM T IR TR {59 UbR BT STIH UG UGN fha
NIGIEE

(A) Immersion coil type evaporator | WWWW
(B) DX type evaporator | ST UHR STfteprurasdi

(C) Flooded type evaporator | digU¥d UhR BT T hRUThdl

(D) Plate type evaporator | Qe UHR STSiBuTbdl

Correct Answer : A

(16). Which part of the system the charging line of recovery machine is connected

for recovery of refrigerant? | Repadt w=i= o =rfoi NIEG K I T HAT
IpioRe &I Repas & fo Jergane?

(A) Liquid line | dXdf ddlgd

(B) Evaporator | @T@W

(C) Suction line | HaR[ <llg

(D) Discharge line | %ﬂﬂﬁf?ﬂ%—'{

Correct Answer : C



(17). Why ammonia is used as refrigerant in ice plant? | T & Wic H =T
oI URId® & &9 W i YN {01 ST g2

(A) Non toxic | R oo

(B) High latent heat | B?GT@%_C'EPI_C'

(C) Low latent heat | W@l%?@_c'

(D) High boiling point | thﬁ%—d

Correct Answer : B

(18). What is the cause of high suction pressure and low discharge pressure of the
compressor in ice plant? | g0 IO A HUIR & I I dld GaTGbH LS|
a1 BT HRUT T 82

(A) Compressor pumping high | HUTR U7 3=
(B) High ambient temperature | 3= URORT &I dqHH

(C) Compressor pumping poor | HUTR T FEN
(D) Low ambient temperature | HH URAY BT dIIHH

Correct Answer : C

(19). Which instrument is used to check the specific gravity of brine solution? |

SIS HIegRH o [AfRIY T B! Sid & [T for s SUHRU1 DT IUTRT fobdT STt
g?

(A) Hygrometer | \HI?E?FIT@[

(B) Hydrometer | Bﬁsﬁa

(C) Anemometer | Q:ﬂ'l:n'ma
(D) Tachometer | eHhIHIER




Correct Answer : B

(20). Which refrigerant system is used for making mini ice bars in different

flavours? | Taf¥ Toiax § i 3189 §R 991 & forg fog Yhisiie yural &1
SN {1 SI1d1 82

(A) Deep freezer | ST hIeR

(B) Ice candy plant | &ﬂgﬂﬁw

(C) Ice cube machine | &ngﬂeraugmﬂq
(D) Block making plant | AIp HIHT Wic

Correct Answer : B

(21). What is the function of part marked as X? | X %Wﬁﬁﬂ%—d I BT BRI
T g?

—

(A) Circulate the brine solution | THD 9Id BT URBH] B
(B) Heat the brine solution | TSI Ui Bl TH DY
(C) Pump the brine solution | THGH I B UY B



(D) Freeze the brine solution | "THD 9Id DI 1ol B

Correct Answer : A

(22). Which control functions first if warm water flows through water cooled
condenser in ice plant? | g0 & Wiic | dTex LSS HSTIR & ATHH I ITH Ut
81 g Al Ja UGl &I AT (a0 S vl 872

(A) LP cutout trips | LP hC &HB_C'@U

(B) HP cut out trips | HP hC &HB_C'EU

(C) Oil pressure cut out trips | G{\IIEFTaWW GI'IB?EU
(D) Thermostat will cut out | Qﬂﬁ?ww

Correct Answer : B

(23). What is the cause of Ice cream tank leak? | &mﬁﬂ%ﬁﬂmww
FTG?

(A) Poor welding joint | XdXTd Al \)1-\I$

(B) Agitator motor failure | BfoTeex Alex ieR

(C) pH value of brine more | ST hT pH HIT 3feH

(D) Low temperature of substance | dcd ] HH dIUHIA

Correct Answer : A

(24). What is the churner capacity of 2 Ton ice candy plant? | 2 Eqat%ﬁw
1 YT & R 62

(A) 1 litres
(B) 2 litres



(C) 3litres
(D) 4 litres

Correct Answer : B

(25). Which one indicate stopper in figure? | IEEEEELTEA] q9§|-| B3l GQIi(‘H %?
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(A) Z
(B) Y
(C) X
(D) W

Correct Answer : A



